20163 A S A ] o AHH A A

of| A -2 F 7453 (&9 ")
* s AR | AR |y = (o
S R — A Arel | o ayen H| 1 57 MET () H] 31
fe] L © = mal <) =
1.0] 4454 216,642 216,914 -272
1. 080 E 3] A o] A 59 216,642| 216,914 =272
1. SR S ARG =T 216,642 216,914 -272
1.8 3| AlAd = 216,642 216,914 -272
1.8 n g AU+ 165,111 165,111 0
2. 5 XA u M) = 51,531 51,803 -272 fifggo%%ffl + (6,172,009 > 1at) - -272,000
2. AHA <) 19,277| 20,569  -1,292
18R R eg 18,870 20,069 -1,199
1.5 A4 18,870| 20,069  -1,199
1.2 8,328 9,527/ -1,199
1.840 8,328 9,527  -1,199| A LHAH]  -908,000¢ X 13]= -908,000
SriE 0 -291,0009 X 13]= -291,000
2. 355t W &5 ] 8,400 8,400 0
1. %353t gk 8,400 8,400 0
3. LB H] 2,142 2,142 0
1. E9]H) 2,142 2,142 0
2. YA DE45Y 407 500 -93
LA ERF4E 103 100 3
1AM SR 103 100 3
1AM 2 103 100 3| HAIEALER 03,0009 X 13]= 3,000
2716184 FE 59 304 400 -96
1.0l 454 245 300 -55
101444 245 300 -55| 0] ZH¢] 55,0009 X 13]= -55,000
2. 71et4 45+ Y 59 100 -41
1.7/t A4 & %49 59 100 -41| 71t A S F54Y 1 41,0009 X 13]= -41,000
3. 71t <) 5,612 5,612 0
1. Addzo)dH 5,612 5,612 0
LaeAAYSF 5,612 5,612 0
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of Ak - +75%] (¢4 A4)
T’} = 7 A
71 A _ _
cqoz\oou 011\].0011 A a5 3t AE7 2 (D) H] 32
32| aAsAu= | AES AT
1AL 5,612 5,612 0
1.eAAd = 5,612 5,612 0
Al 4 #A 241,531| 243,095 -1,564
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